NS4 - 551

B.Com Degree Examinations —JULY 2022
Fourth semester
PART - I
COMMERCE
PAPER — 1 : CORPORATE ACCOUNTING
(New Regulations 20-21)

Time : 3 Hours Max. Marks : 75
Section — A
Answer any FIVE questions. Each question carries 5 Marks
AR 5 23) VL VATEPRDL FPO30. Fele) 23D 5 QA en
(5 x5 = 25 Marks)

1. PQR Ltd issued 10,000 equity shares of Rs.10 at par. Amount is payable, Rs.3 on

application, Rs.4 on allotment and Rs.3 on call. Company received 15,000 applications
and shares are allotted on Pro-rata basis. Pass necessary entries in the books of
company.
PQR ®&E odd 6°.10 Densdrew 10,000 éa§5e3 TTOVRD D028 26 BOTD.
AT BOPPROP 6.3, ELPO0RYR P4 SO 6.3 DewsYeR 3Pomed.  Eodd
08 15,000 ortro S6H G6arped SDNID Hoakn drtroy -8 DEBD
SEPOODTW.  EoDN IDYS VS’ VBVICRD D DG FPOKVAW.

2. Forfeiture of shares
TETR 253D

3. Buy back of shares
Srero 880 Sdoffen Botbeto

4. The company Reserves and Surplus consisting of Rs.10,00,000 in general reserve and
Rs.12,00,000 in profit and loss account. Its capital structure consisting of 10,000 equity
shares of Rs.100 each. The board of directors decided to capitalize the company’s
reserves and surplus by issue of bonus shares. One bonus share is issued for two shares
held. Pass necessary entries in the books of the company.

28 €030 826X A% DTy ©ES° JTdes B2 6.10,00,000 LoOC%D XSV
groe 6°.12,00,000 en €0 &) D. @ S0 SreEdo W(ErdosS 10,000 &8
Teeen 65°.100 Densd A0 g0, oD GO £5°00 arere a0 TO° B2 R V03



9.

DAY BTrVEILO0S GUDTED. VO Totd THFVL w8 &5°ID THeF 26 B
S0 3RS VS’ WBVEDD D DERL O3V

. Factors influencing Goodwill

D&E-DS 0 DPDB0 WD oT°eD

. Net Assets Method

QEE BV DES

. Calculate the expected rate of dividend from the following - Issued Share Capital — 10,000

Equity shares of Rs.10 each. 1,00,000, 6% Preference shares of Rs.10 each fully paid.
Annual transfer to general reserve is 30%, Rate of tax — 40%, Profits before tax
Rs.2,00,000. Normal rate of return 10%.

808 DITVE 230D EDEOC B TE) ot - 226 B e BureEdo — 10,000
éaés& e 288 6r.10 SEyD, 1,00,000, 6% @SOS Teren .10 g
BQoDDD. Ao Bt Qs WA 30%, DY Bew -40%, D)L BVCE> Lo
65°.2,00,000. Jroedes ooedd St 10%.

. Interim Dividend Vs Final Dividend

0G5 OS EIRoC Vs Bod EIT ot
Section — B
Answer the following questions. Each question carries 10 Marks
$00 03 VO VAT HD0 FOsVEA0. VB ) O 10 Ardyw
(5 x 10 = 50 Marks)

a. K Limited registered with an authorised equity capital of Rs.20,00,000 divided into
20,000 shares of Rs. 100 each, 16,000 shares are issued for subscription payable at
Rs.25 per share on application, Rs.30 per share on allotment, Rs.20 per share on first
call and the balance as and when required. Application money on 16,000 shares was
duly received and allotment was made to them. The allotment amount was received in
full, but when the first call was made, one shareholder failed to pay the amount on 800
shares held by him. Give the necessary journal entries in the books of the company.

K d08E o6 6°.20,00,000 88 e sarogdod 0236 wonTrd. 63D 20,000
Toere . 100 DenSdsudT Desotrd. oces’ 16,000 Sreresd o S6L 208
BITD. BYodpew G6PDR .25, 3o Gr.30, G e 6r.20
300050 DADHG WBVEROBIY Y BPozed. 16,000 TrereRd B6arR Dogo HRFGHO
S0BO3L TPEFORD SEIPAOLIEDINE. SEPA0KY) AVB0 QIO HDAFTIA. ACED DLVKY



10.

a.

20go 800 Treren $9A &d) w8 THFEPEH oD AP STE. Ko DRSS’
(DFISTe POy zi)eg" DGoen OB
OR

Siva Ltd., registered with 1,00,000 equity shares of Rs.10 per share. Company offered:
50,000 equity shares to the general public, at a premium of 10 per cent. The public
subscribed for 50,000 shares only. The amount payable on calls is as under.

On application Rs.4 per share

On allotment Rs.4 per share (including premium)

On first and final call Rs.3 per share.
The company made calls on all shares; money was received in full except on 250 equity
shares on allotment and first call. The company forfeited these shares by giving proper
notice. Further, the company re-issued these forfeited equity shares at Rs.8 per share.
You are required to pass necessary journal entries.
25 dBE T 1,00,000 éaéSeB ToePen 610 e Dendie TS 02336 0T
€00 T 50,000 oreredd D20 10% oo a6 SDTw. 50,000 dreresd
DR TIOT® WAITR.  DLIKDVR oY 8od Do BYozd.

BOPPRP T O 6.4 SN

SE0N00L) P TP .4 SN (koS 1)

DAVEE) S0B03D B DLV ToEPL E°. 3 zS":Q)bé
EoDD TEPUP W) Dewsen DIV, 250 TEreR S0 HOCKD DG
2003y QD WADD Terep Dwgo HDNDB. oD ToEH VANVDSD B &°6
B & TPV 2 BITW. BOITS Sod &Y BVD & THTVL 6.8 Sy 86N
250 BATE. WBVERVD DEF DGO Frosdw

M Ltd furnishes the following summarised balance sheet as at 31* March 2022

Amount
Particulars

Rs. In ‘000
Equity and liabilities
3,00,000 equity shares of Rs.10 each fully paid up 3,000
20,000, 9% preference shares of Rs.100 each 2,000
Capital reserve 10
Revenue reserve 4,000
Securities premium 500
Profit and loss account 1,800




10% Debentures 400

Current liabilities 40
Total 11,750

Assets

Fixed assets 2,750

Investments 5,000

Current assets 4,000
Total 11,750

The company passed a resolution to buy back 20% of its equity capital @Rs.15 per
share. For this purpose, it sold its investments of Rs.30 lakhs for Rs.25 lakhs. You are
required to pass necessary journal entries.

31° March 2022 & M Ltd 808 &3 @930y DB 00c80) 8.

Q0SB0
DDTLD
&.‘000

&3¢ S0 WD
3,00,000 éaésé TPeren 6. 10 Dend (oD O™ IYoddD 3,000
20,000, 9% 08 ortren 6100 Sy 2,000
DTV 028 10
oreads By 4,000
REPIOB HaDo 500
orBdFV are 1,800
10% G&otdgd 400
QROG QY 40

Q080 11,750
e300
QTR 2,750
D4.ICD 5,000
QRS eI 4,000

20080 11,750
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EondD B &3(8 JorEHos” 20% ) 288, THL 615 SEPYD 3Pod DIV
DEITDS BT Vo). oEBL 6. 30 O DEVLCVI 6725 VLV VA IO
(DFISTe POy z‘beg" DGoeD FPOsA.
OR

10% debentures of Rs.100 each were on the basis of the following conditions:

a. Debentures issued at par and redeemable at par.

b. Debentures issued at discount of 5% and redeemable at par.

c. Debentures issued at premium of 10% and redeemable at par.

d. Debentures issued at par and redeemable at premium of 10%.

e. Debentures issued at discount of 5% and redeemable at a premium of 10%.
Pass necessary journal entries in the above-mentioned cases at the time of issue and
redemption of debentures.
10% &80od 65°.100 Jewdrie o3 §obd NEBOVSE 228 BRT°G.

a. CE0NGRD VAPeriS 228 SOOI WIS IS

b. GBotsgad 5% A ot & arb B0O0KN DTS DA

C. A80csgR0 10% HMOOSE 276 00K DLV DITSD

d. ABoga DaMreryIS 28 00K 10% A0S DI

e. A8ousgRn 5% A oS & &6 00ak0 10% DS DITSD
DO B3OV “‘Oocsovavef’ GBoY 220 H000IN DAL  IDIERID Z)ég DEve

Q

IPO30AN.

The net profits of the company for the past five years are 2018 - Rs.18,000, 2019 —
Rs.20,000, 2020 - Rs.22,000, 2021 — Rs.24,000 and 2022 — Rs.20,000. The
capital employed in the business is Rs.8,00,000 on which a reasonable return of 10%
is expected. Calculate the goodwill of the company under the capitalization of the
average profit method

28 oD V), (S 5 VodBYTO ereren HEOIM 2018 — ¢r.18,000, 2019 -
6.20,000, 2020 — 6».22,000, 2021 — 6».24,000 &o6asn 2022 — &x.20,000.
T§IG0eS” DAAPACDD SrOEdo 6°.8,00,000 &7 830D DIVIBRVD T°e& Bew
10%. DD erere  @arogSses DES Ps*Go S0 ), MHEDS Jed &0
ejéboéom)

OR
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b.

a.

The balance sheet as at 31 March 2022, ascertain the value of goodwill.

Liabilities Rs. Assets Rs.
20,000 shares of Rs.100 each | 20,00,000 | Goodwill at cost 2,50,000
Profit & loss A/c 6,00,000 | Land and buildings 11,00,000
Bank overdraft 4,80,000 | Plant and machinery | 10,00,000
Creditors 7,00,000 | Stock 10,60,000
Provision for taxation 5,30,000 | Book debts 9,00,000
43,10,000 43,10,000

Profits earned before providing taxation for the last 5 years were Rs.5,00,000,
Rs.7,20,000, Rs.7,80,000, Rs.7,50,000 and Rs.8,20,000. Assuming that rate of
tax is 50%, dividends distributed on paid up capital from the profits were 10%. Goodwill
will be taken at 3 years purchase of super profits.

31 300 2022 & &) ] D YL D H00d HEDS DD DBt

SXONCY aoe. e300 aoe.
20,000 oéren 65°.100 Sy | 20,00,000 DEDS (28e) 2,50,000
orBdFR e 6,00,000 | & gPSeen | 11,00,000
ergosd L356 &9 4,80,000 | Jrot asvogren | 10,00,000
22063375 7,00,000 | 2605 10,60,000
D) S fbovbéw 5,30,000 | axoeagiioen 9,00,000
43,10,000 43,10,000

% 5 “oobeébo‘e)eSG e.ego&):o DAY O Doty G wrgren HERM 6r°.5,00,000,
6.7,20,000, 6>.7,80,000, &65.7,50,000, 06030 &5.8,20,000. ‘é)«ﬁ); Sensd 50%
T S08050 erere Q00 BYoDD HITPOESV0R Do B ADRoE Bew 10% T erdocsodd.
3 RODBVTV VGDHRY TV 0000 EDS eI BE IS,

From the following information, find out the value of each share:

Liabilities Rs. Assets Rs.

Share capital: Fixed assets

20,000 E. shares of Rs.10 2,00,000 | Goodwill 1,90,000

Reserve and surplus: Reserves | 2,50,000 | Investments 3,00,000

Profit and loss account 30,000 | Current assets 50,000

Unsecured loans 80,000 | Loans and advances 30,000

Current liabilities 20,000 | Pre. Expenditure 10,000
5,80,000 5,80,000




For the purpose of valuation of shares goodwill shall be valued at Two year’s purchase

of the average profit of the last five years.

The profits for the last five years are Rs.60,000, Rs.70,000, Rs.40,000, Rs.50,000

and Rs.50,000.

S0 DHT® o ToEr B0, DD Gézjoéosﬁw

XNV aoe. e300 aoe.

TP ATV ‘?gov{_g)w

20,000 éaésé% Jeeren 8°.10 | 2,00,000 | o&-DeS 1,90,000

Gadosw somwo: Oadosoo 2,50,000 ?o%)naoci)w 3,00,000

ereb«égw ES 2 30,000 | ©R08 esioen 50,000

SEOSD 2a0eTe 80,000 | 20063e TP 30,000

DS esen 20,000 | g DAL 10,000
5,80,000 5,80,000

TV T8N0 EL (18 5 DoDBVTR DD erereres’ 2 R0DB\o S0 e

O&E-DS e Dwéégéé’m. 55 5 &obébowv 2P DM 83°.60,000, &°.70,000,

¢5°.40,000, 65°.50,000 ododn 65°.50,000.

OR

The following is the balance sheet of Diamond Ltd as at 31-3-2022

Liabilities Rs. Assets Rs.

2,000 shares of Rs.100 each 2,00,000 | Land and buildings 1,10,000
General reserve 40,000 | Plant and machinery 1,30,000
Profit and loss account 32,000 | Patents 20,000
Sundry creditors 1,28,000 | Stock 48,000
Income tax 60,000 | Debtors 88,000
Bank 52,000

Preliminary expenses 12,000

4,60,000 4,60,000

Assets are valued; land and buildings Rs.2,40,000, goodwill Rs.1,60,000 and plant
and machinery Rs.1,20,000. Out of the total debtors, it is found that debtors of
Rs.8,000 are bad. The profits of the company have been as follows Rs.80,000,

Rs.90,000 and Rs.1,60,000.



13.

b.

The company follows the practice of transferring 25 % of profit to the reserves. Ascertain
the value of company under fair value method.

31-3-2022 & &%) Earo& WBE g e8] DN DY S0t RBIEDOVA.

XNV aoe. 2900 aoe.

2,000 ooeren 65°.100 Sy | 2,00,000 | g Pdren 1,10,000
Fee6es 022609 40,000 | Jrotn asdogren 1,30,000
waﬁégv ES 2 32,000 | &30t 20,000
DG 200EITPH 1,28,000 | 2D 48,000
[Zlnlovt6)) zbmcl 60,000 | 2aeagioen 88,000
wzgosa 52,000

FAAE DAL 12,000

4,60,000 4,60,000

SRV FPA FHTD &°.2,40,000, (H&E-eS 65.1,60,000 000500 Jrotn alogren
6.1,20,000 0 Dend EQEDODE. 200000eS° 6°.8,000 e T erdenre
SROFTDEIG. EodD G3E); ereren 65°.80,000, 65°.90,000 &wdokin 65.1,60,000.
ererees’ 25% QT 0260 208 Basn edToNd SO, Kond ooy o308);
DD CBNERLD DeND DEB PS°Go TS 0chdAw.
Draw the format of balance sheet as per the Companies Act 2013.
€0 380 2013 PS°Go 33 XD D VRIPTPR FOVAW.

OR
The following is the trial balance of XYZ Ltd. Prepare statement of profit and loss and

Balance sheet as at 31-12-2021

Debit balances Rs. Credit balances Rs.
Land and buildings 1,16,000 | Equity Share Capital 3,19,000
Furniture 20,300 | 8% Pre. share capital 72,500
Plant machinery 1,45,000 | 10% Debentures 1,45,000
Stock (31-12-2021) 87,000 | Trade creditors 58,000
General expenses 65,250 | Gross profit 1,81,250
Debtors 58,000 | Interest on bank deposits 72,500
Investments 1,45,000 | Profit & loss A/c (1-1-2021) 7,250
Bank 43,500
Prepaid expenses 36,250
Interest on debentures 14,500




Director’s fees 39,150
Rent, rates insurance 34,800
Goodwill 50,750
8,55,500 8,55,500
Adjustments:

a. Provide depreciation at 10% on Land and buildings and at 5% on Furniture
and plant and machinery.
b. Directors recommended the following
i. Proposed dividends on capital 10%
ii.  Provision for taxation 40%
XYZ ®0BE 570 90se §o& Deore &Y B, 31-12-2021 & ergsdgre DS
S000K0 53 XYL DB BAITED BosLW.

G Qe . §&e5 Qe .

B 230 1,16,000 | &8& T Sareddo 3,19,000
;Jégjbci) 20,300 | 8% es08() e dorodo | 72,500
@“oé&) ooZren 1,45,000 | 10% c&oesgd 1,45,000
DA (31-12-2021) 87,000 | 588 200etechen 58,000
O PN 65,250 | o ergio 1,81,250
2EIFROL0 58,000 | er§ocd> AR HE 72,500
DEeICRD 1,45,000 | erasdgro aree (1-1-2021) 7,250
e3°§0d 43,500
D000 Bodd cbyen | 36,250
EBousEd O 14,500
EOgY e 39,150
03, e DA 34,800
D&EDS 50,750

8,55,500 8,55,500

{ogawg.p

a. e FOTOP 10% 0ok DEYNBEd OOID Frotd ooT VP 5%
SEEODR ooyt BSosrd.
b. G3EE> 08 TAJ DY BHTG
L TP SUrRER0R RO DG 10%
i D0) £ domyew 40%
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/ B.Com Degree Examinations:: JULY/AUGUST,2023. \
FOURTH SEMESTER
PART-II
COMMERCE
Paper- 1: Corporate Accounting
(New Regulations 20-21)
k Time:3 Hours Maximum Marks: 75 /

SECTION-A (5 X' 5 M= 25 Marks)
Answer any FIVE of the following. Each question carries FIVE marks

1. Forfeiture of Shares

Buy back of Shares

Need for valuation of Good Will?

What are the methods of valuation of Shares
Profit and Loss Appropriation account
Difference between Shares and Debentures

Explain kinds of Shares

® N bk w DD

Write a note on Book Building

SECTION-B (5X10M = 50 Marks)
Answer ALL questions. Each question carries TEN marks.
9. a) Ramu Co Ltd issued 20,000 shares of Rs. 100 each to the public and payable as under.

Rs.
On Application 25 per share
On Allotment 25 per share
On First Call 30 per share
On Final Call 20 per share

All the shares were subscribed, calls made and collected on the due date. Make necessary
journal entries in the books of Ramu Co Ltd
(OR)
b) Antony Ltd. Invited applications for 10,000 shares of Rs.100 each at a discount of 5

per cent payable as follows:
On application Rs.25; on allotment Rs.34; on first call and final call Rs.36.

The applications received were for 9,000 shares and all of these were accepted.



All moneys due were received except the first and final call on 200 shares which were

forfeited. 100 Shares were reissued @ Rs.90 as fully paid.

(OR)
10.a) Akbar Ltd company issued 10,000 debentures of Rs 100 each for subscription. The
debentures money are payable as follows.

Rs 30 on application, Rs 40 on allotment, Rs 20 on first call and Rs 10 on final call. A
person who holds 200 debentures fails to pay this amount with first and final call money.
Give journal entries in the books of Akbar Ltd Company.

(OR)
b) ABC Ltd issued 5,000 10% debentures of Rs 100 each. Give journal entries in
each of the following cases.
(1) Debentures are issued and redeemable at par
(i1) Debentures are issued at par, but redeemable at a premium of 5%
(ii1) Debentures are issued at a discount of 5%, but are redeemable at a premium of 5%
(iv) Debentures are issued at a premium of 5%, but are redeemable at par

11. a) The following particulars are available in respect of a business firm.

1. Average capital employed Rs. 50,000.

ii.  Trading results: 2005 (Profit Rs. 12,200) 2006 (Profit Rs.
15,000) , 2007 (Profit Rs.2,000) and 2008 (Profit Rs. 21,000)

iii.  Market rate of interest on investment at 8§%.

iv.  Rate of risk return on capital invested at 2%.

v.Remuneration of the proprietor Rs. 3,600 pa.

You are required to compute the value of Goodwill on the basis of 3  years purchase

of super profit.
(Or)
b) The profits of a firm were as follows:
Year Amount Rs
2019 80,000
2020 60,000
2021 1, 20,000

Non-recurring income of Rs 8,000 is included in the profits of the year 2019. Goods
worth is Rs 12,000 were destroyed in a fire accident, which took place in the year
2020. The goods were not insured. Profits of 2021 included Rs 10,000 income from
investments. Calculate Goodwill on the basis of two years purchase of the average

profit of Last 3 years.



12. a) What do you mean by Valuation of Shares? Explain the need for valuation for

shares.

(Or)

b) Compute the Value of Shares by Net assets Method

Balance Sheet

Liabilities Amount Assets Amount
Rs Rs

50000 Shares of Rs. 10 each 5,00,000 | Cash in hand 50,000
Reserve fund 50,000 | Debtors 1,50,000
Profit & loss Account 30,000 | Stock 50,000
9% Debentures 1,20,000 | Goodwill 1,00,000
Creditors 2,00,000 | Fixed assets 5,50,000

9,00,000 9,00,000

On 31-12-2019 fixed assets were valued Rs. 7, 00,000 and goodwill at Rs. 1.20,000. The net
profit for the last three years were Rs.30, 000, Rs. 40,000 and Rs. 50,000 of which 15% was

placed to reserve. The rate of return is 12%.

13. a) Give the specimen form of profit and loss account and Balance Sheet According to

the company Act, 2013.

(Or)
b Prepare Balance Sheet of Spandana Company limited as on 31.03.2021
Debit Balances Amount Credit Balances Amount

Calls in arrears 5,000 | Share Capital 2,50,000
Furniture 15,390 | General Reserve 15,000
Plant and machinery 68,425 | Loan from Bank 16,000
Closing stock 91,500 | Outstanding Expenses 7,000
Sundry debtors 3,800 | Sundry Creditors 4,000
Cash at bank 1,39,700 | Profit and Loss (1.4.2020) 12,000
Prepaid Insurance 1,680 | Net Profit 21,495

3,25,495 3,25,495

Additional information:

a. proposed dividend Rs 9,000 to be provided

b. transfer to General Reserve Rs 6,000 c. Ignore corporate Dividend Tax




NS4 - 552

B.Com Degree Examination —JULY 2022
FOURTH SEMESTER
PART — I
COMMERCE
Paper 2 — COST AND MANAGEMENT ACCOUNTING
(New Regulations 20-21)

Time : 3 Hours Max. Marks : 75
Section — A
Answer any FIVE questions. Each question carries 3 Marks
B 5 PF) VD DIFERHD FPOSVHV. DA VI) D 3 Joedd)en
(5 X 3 = 15 Marks)
1. Objectives of Cost accounting
5°R @S°ot30f) C30E); VER(e
2. Calculate EOQ from the following particulars
Annual consumption —7,200 units.
Ordering cost Rs.20 per order
Carrying cost : 8%
Price per unit — Rs.250.
o8 DdTVE EOQ & TE) 0o
Q8 DAAIrE 7,200 03rAew
e8880f Hyato 28 e88d £ 6.20
.‘0(55@93 goo 8%
208 o Hyosdo 8. 250
3. Mr. X is a worker in a factory. During the month of October 2021, he has worked for 200
hours. His hourly rate is Rs.10 per hour. He produced 1,500 units during October 2021.
Calculate his wages under piece rate basis method, if standard time per unit is 15 minutes.
28 3*’5%666 X 2,8 S0 E0c. 9B esegj 26 2021 d0e5® 200 Sotred HDABDT Y. 9eHDS
DAWDD $oea&d Be de.10. e9ededd @%6835 2021 & 1,500 030500 ee:sbe;g WROTCCD. 208
O g, FAredE S0 15 Daren Wond DR S PSPCo VB STV
ejéboéom).
4. Prepare an estimate for Job No.151 from the following
Direct materials Rs.10,000
Direct wages Rs.15,000



Factory expenses 60% of wages

Office expenses 20% of factory cost

Find the job price when profit is charged 20% on selling price.
S0 DHT® Ao 2585 2oy 151 02)0H0NR IOLIT® L3030,

D58 2080aHESy 6.10,000

STt DHeen d.15,000

F586 DAOyen ddTwP 60%

€3RI\ FYE6 Syao 3 20%

V) g0 (6 D 20% ergio &Y YT el HFoo O SAFTRV[W.
. Calculate trend percentages

0B TTPO TS 0t

2019 2020 2021
Rs. Rs. Rs.
Sales w0 s | 2,00,000 | 1,80,000 | 3,00,000
Purchases é"mﬁ%o 1,00,000 80,000 | 1,25,000
Expenses DN 15,000 | 20,000 25,000
Profit erlo 50,000 | 40,000 | 1,00,000

. Comparative income statement

SOVTE) § STPAD DO

. Profit Volume Ratio (P/V ratio)

025 HODIEI :)xqbeg (P/Vv f’\):qbe})

. ABC Ltd manufacturing a single product, incurring variable costs of Rs.60 per unit and
fixed costs of Rs.2,00,000 per month. If the product sells for Rs.100 per unit. Find the
break-even point.

ABC dEE Srd 208 DRV H03e8d égpmicb. 6 sgas0 a305°AES & .60 S0
INIITH) ‘?gcs Dgos0 65°.2,00,000 en. 208 oA DDA 6r.100 eo.  G5-Sd

Do SRR R0,

Section — B
Answer any FIVE questions. Each question carries 12 Marks
DB 5 $F) VL VAFEEOAD FOVAD. VD VI) D 12 B e
(5 X 12 = 60 Marks)
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5°Q S otdofh 2O PTYONES WS ot3of 06 (o Brren AD?

OR

. What are the differences between Cost Accounting and Financial Accounting?

The following cost details are extracted for production of 1,00,000 unit for the year ending

December 2021.

Rs. Rs.
Plant maintenance 20,000 | Lighting (for office) 12,000
Plant depreciation 8,100 | Rates and taxes 3,900
Staff salaries 30,000 | Management salaries 42,000
Power 10,000 | Indirect wages 37,100
Consumable stores 17,600 | Materials 3,00,000
Selling expenses 48,000 | Wages 2,40,000
Sale proceeds from scrap 10,000 | General expenses 24,000
Rectification of cost of defective work | 10,000 | Cost of idle time 2,000

Prepare cost statement showing cost per unit.
Goeb 2021 & 90320085 DoDBVTPIS &G B0D 1,00,000 crdYL Doe0Bodd
D503 BT L 808 JDorr &) .

8. 8.
ot DBLETe 20,000 | §830h (esaddno §6% ) | 12,000
S0t SV 8,100 | Ge0 200050 D& e 3,900
f‘oe.)aoé 2TeeD 30,000 | d&gEred ATe 42,000
056 10,000 | 58 88>ye 37,100
DArAS TEy 17,600 | 2080056y 3,00,000
B0) SZD) PEIN 48,000 | devren 2,40,000
B0L), @A) Ko Desd 10,000 | z6es DB 24,000
S°HZFPONHRDOD D HVOAGETIS Syado | 10,000 | Hz° ST Hoso 2,000

208 03005 ajzgodrb‘l e Sgab QDAE) SHO3PED O3V

On 1% September, 2021 the stock of material is 1,000 units at Re.1 per unit. The following

purchases and issues were made subsequently. Prepare the store ledger account showing

how the value of the issues would be recorded under (a) FIFO and (b) Simple Average

method.
Purchases issues
September | 6 100 units at Rs.1.10 | September | 9 | 500 units
September | 20 | 700 units at Rs.1.20 | September | 22 | 500 units




September | 27 | 400 units at Rs.1.30 | September | 30 | 500 units
October 13 | 1,000 units at Rs.1.50 | October 15 | 500 units
October 20 | 500 units at Rs.1.50 | October 22 | 500 units
November | 17 | 400 units at Rs.1.60 | November | 11| 500 units
2dPowb 1, 2021 & &d) BOCSY dug 1,000 0w, 0PI 6.1 SN, §0d
5@85%;% Q00030 2P8en BTG VoPDoID. FIFO 000500 Jrerdes Liew DGBOVD
BO0DHSy 26 D SRS Ty BT PP SOIrEd Sok0B. |
E20f%0, 2>Ben
?o;‘goeoé 6 100 a305°ew, a3rdeS 65°.1.10 WY ?0380&35 9 | 500 osooedn
?o;‘goeoé 20 | 700 05orden, 0305°de 6°.1.20 WY ?0380&35 22 | 500 osorden
Egoeoé 27 | 400 030570, 0o 6°.1.30 DY | D o0& | 30 | 500 osPe
w86 | 13 | 1,000 cordew, 03ooedEs 6°.1,50 SN | @b | 15 | 500 ardew
w86 |20 | 500 oA, oo 6°.1.50 STy | @b | 22 | 500 ardew
ddoexb | 17 | 400 a305,dew, asordes 65°.1.60 WY 00026 | 11| 500 a305,dew
OR

b. From the following particulars work out earnings for the week under (a) Straight piece
rate, (b) Halsey premium system, and (c) Rowan plan
Number of working hours per week 48 hours
Wages per hour Rs.9
Normal time per piece 20 minutes
Normal output for the week 120 pieces
Actual output for the week 150 pieces
208 T°G0e5° B 208 DS X0£20H0DD $08 DIT® Hdod eorairdy (a) Rones %0 3w
(b) 33Ty oo DES 20050 (¢) FIS Do S S8 o, -
208 T°80e5° Jeeses D (Sotren 48 (Sotren
(5020 DD Bew 8.9
208 XD BE), FGer SPOAD 20 DAL
TG50e5° Jedes &8 120 Sdve
T60S® TRD &G 150 diwen
.a. Ravi Limited owns a bakery. The company actual capacity of baking is 50 units at a time.
A customer gave an order for 600 items. To process a batch of 50 items the cost would
be incurred
Direct materials Rs.500

Direct wages Rs.50



12 a.

Oven set-up cost Rs.150
The production overheads are at a rate of 20% of direct cost. 10% is added to the total
production cost of each batch to allow for selling, distribution and administration overheads.
The company profit margin is 25% on sales. Determine the selling price for 600 items.
6D DWGE 28 BLOD SDACKVD)B. oD S, TRD Boh avmgzso w8 6 50
O, 208 PPEPEPEIE 600 DDV 385 QAYTC. 50 Ao 2.8 &g 0 FRRD
RODEEAS $0d Do DB BYB00B.

D58 20B0aHSy 6500

LB(E ddren 6.50

80 0¢5-e95 Dgoso 6.150
N 8056 3¢ VDS ‘é;zgcmoeS6 20%. e So, DoDE3 BOAD DOJVD £, ¢
E60 0B &0 Alng), B0 GSNE OIS 107 SVDIS. S0 T OB STVD
25% orerdy Fodtwd. 600 HWHL €950} S0 G Do@véomm

OR

What are the differences between Job Costing and Batch Costing?
2725 S°R0A BASW ergd SPRIA G (o Brren DD?
Suresh limited furnishes its balance sheet for the years 2020 and 2021.  Prepare

comparative balance sheet

2020 2021 2020 2021
Liabilities Assets

Rs. Rs. Rs. Rs.
Equity capital 80,000 80,000 | Land and buildings 80,000 74,000
10% debentures | 1,00,000 | 1,20,000 | Plant & machinery 80,000 84,000
General reserve 40,000 | 49,000 | Furniture 20,000 28,000
Sundry creditors 50,000 70,000 | Inventory 40,000 60,000
Bills payable 10,000 15,000 | Debtors 40,000 80,000
Cash 20,000 8,000
2,80,000 | 3,34,000 2,80,000 | 3,34,000

RA00% dWBE o> 2020 0050 2021 RoDBVTVLH o @Y WDV DHV
OBEQIT) 0. SOV E 5 DO DE SAITED Bo1W

2020 2021 2020 2021

RIQY&D 2900

ea§5e3 Sorocsdo | 80,000 | 80,000 | S50 g3dTee0 80,000 | 74,000
10% A&BocsEd 1,00,000 | 1,20,000 | Protx oogren | 80,000 | 84,000




I le 1) SLTevy 40,000 49,000 ‘foé‘)’zﬁdo 20,000 28,000
DG 220VEITTHD 50,000 70,000 | 2 40,000 60,000
B0 Devew 10,000 15,000 | axoeagiioen 40,000 80,000
N lgla V) 20,000 8,000
2,80,000 | 3,34,000 2,80,000 | 3,34,000

OR

b. The following particulars are extracted from the books of X Ltd for the year ending
31° Mar 2021 and 2022.
31 20,0y 2021 200050 2022 & eossdnady DodBVTOLH X dEE RSV ol

VEO0ND DdHTRD S0d Jorr &0 D

Particulars QDT 31-3-2021 | 31-3-2022

Rs. Rs.
Sales eséo&s"w 7,15,000 9,69,000
Less: Cost of Goods Sold | Less: @ad5),& &SR0 Ojado | 4,35,000 | 6,15,000
Gross profit “%)J"o eredo 2,80,000 | 3,54,000
Less: Office Expenses Less: esedi DAL 50,000 70,000
Less: Selling Expenses Less: 930} $2D) DN 1,60,000 1,70,000
Operating profit 3(55:3“99 ergdo 70,000 1,14,000
Add: Non-operating income | Add: Sdswﬁéd e3Teav0 20,000 17,000
90,000 1,31,000
Less: Non- operating exp. | Less: 365:.?63&6 DU\ 10,000 13,000
Net profit QEG erso 80,000 1,18,000

Prepare comparative income statement
SOV E) & STPAD DDAOSKL SO3 Bk
13 a. From the following information of XYZ Co Ltd. Calculate
a) P/V Ratio
b) Fixed cost
c) Break-even point of sales
d) Sales required to earn a profit of Rs.2,50,000

e) Profit when sales are Rs.28,00,000

Particulars | year Il year
Sales Rs. 25,00,000 | 30,00,000
Total cost (Rs.) | 23,00,000 | 27,00,000




XYZ € ®EE 70 S0d DATTTEHA0 ok
a. P/v QQDQ?;
b. 26 85505.)0
@
C. B85-80 DoY) WD
d. 6>.2,50,000 ereio eagorbc;"i)é eab“‘odéoo&zg A SPen
e. A 5Pen ¢r.28,00,000 008N ergio 0 ﬁéboéom

DT | DodSGo Il oSS
A SPen 6. 25,00,000 30,00,000
Qgo Do & 23,00,000 27,00,000

OR

b. Explain the uses of Break-even analysis

B8-8D JFNEs T, PATPRIPAD DdO0LIEAW.
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PART-II
COMMERCE
Paper- 2: Cost and Management Accounting
(New Regulations 20-21)
k Time:3 Hours Maximum Marks: 75 /

Section-A (5 X 5 M= 25 Marks)
Answer any FIVE of the following. Each question carries FIVE marks

Objectives of Cost Accounting
Issues of material

Economic Batch Quantity
Need of Financial Statements
Features of Marginal Costing
Elements of costs

Methods of payment of Wages
Break-Even Point

XN R

Section-B (5 X 10 M= 50 Marks)
Answer the All questions. Each question carries TEN marks.

9. a) What is Costing? Explain advantages and disadvantages of Cost Accounting?
(OR)
b) From the following particulars prepare Cost Sheet

Rs
Stock of finished goods 31.3.3022 1, 45,600
Stock of Raw material 31.3.2022 66,560
Work-in progress 31.3.2022 50,000
Purchase of raw material 15, 18,400
Productive wages 10, 33,760
Sales 30, 78,400
Stock of finished goods 31.3.2023 1, 56,000
Stock of raw material 31.3.2023 70,720
Work-in progress 31.3.2023 20,000
Factory overheads 1, 00,000
Office overheads 1, 40,000



10. a) Prepare a stock ledger in FIFO method from the following information:

1 Jan Purchases 300 units at Rs.3
5 Jan Purchases 600 units at Rs.4
10 Jan Issue 500 units
12 Jan Purchases 700 units at Rs. 4
15 Jan Issue 800 units
20 Jan Purchases 300 units at Rs. 5
30 Jan Issue 100 units
(OR)
b) Calculate the earnings under Taylor’s differential piece rate from the following:
Normal rater per hour Rs. 4.80
Standard time 30 seconds
Differential to be applied:
80% of piece rate below standard
120% of piece rate above standard
Worker Ramu produces- 800 units and worker Raheem produces- 1050 units

11. a) The following information is extracted from the job ledger, in respect of
Job No.323
Material used Rs. 1,500

Direct Wages:

Department X -10 hours @ Rs. 2.50

Department Y- 8 hours @ Rs. 3.00

Department Z- 10 hours @ Rs 5.00
Variable Overheads:

Department X 7000 labour hours Rs 7000

Department Y 3000 labour hours Rs 6000

Department Z 1000 labour hours Rs 4000
Fixed overheads estimated at Rs. 30,000 for 7, 500 normal working hours.
Calculate the cost of job No. 323 and calculate the price to give the profit of 25% on
selling price.

(OR)

b) Explain advantages and disadvantages of Batch Costing.

12. a) What are the Financial Statements? Explain the limitations of Financial Statements.
(OR)



b) Following are the balance sheet of Akheel Ltd as on 31* March, 2022 and 2023

Liabilities 31.3.2022 | 31.3.2023 Assets 31.3.2022 | 31.3.2023
Share Capital 3,00,000 | 4,00,000 | Machinery 50,000 60,000
Reserve and Surplus 15,000 30,000 | Furniture 10,000 15,000
Current Liabilities 1,00,000 70, 000 | Stock 85,000 | 1,05,000

Debtors 1,60,000 | 1,50,000
Cash 1,10,000 | 1,70,000
4,15,000 | 5,00,000 4,15,000 | 5,00,000

You are requiring preparing a comparative Balance Sheet and interpreting the result.

13. a) The Sales and Profits during the year were as follows:

Year Sales Rs

2021 1, 40,000

2022 2, 10,000
Calculate:

(1) P/V Ratio

(1)
(iii)
(iv)

Break even sales
Profit when sales were Rs 2,00,000
Sales require to earn profit of Rs 66,000

Profits Rs
15,000
33,000

(OR)

b) From the following records of Kohil Ltd Calculate

a) Breakeven point

b) Sales required to earn profit of Rs 1, 44,000

c) Profit when sales are Rs 9, 50, 000
Fixed Cost Rs 4, 80,000
Variable Cost per Unit Rs 16
Selling Price per unit ~ Rs. 40
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B.Com Degree Examinations —JULY 2022
FOURTH SEMESTER
PART - I
COMMERCE
PAPER 3 : INCOME TAX
(New Regulations 20-21)

Time : 3 Hours Max. Marks : 75
Section — A
Answer any FIVE questions. Each question carries 5 Marks
AR 5 23) VL VATEPRDL FPO30. Fele) DD 5 Jrd)
(5 X5 = 25 Marks)
1. Previous year
ofx} “«oobébdo
2. Taxable allowances
:ma& DEoIRAD z,swzge)o
3. The following are the particulars of income, find out taxable House rent allowance.
a. Basic salary Rs.30,000 pm
b. Dearness allowance Rs.6,000 pm (enters)
c. City compensatory allowance Rs.500 pm
d. Commission Rs.10,000
e. Bonus Rs.25,000
f. House rent allowance Rs.10,000 pm
g. Rent paid Rs.6,000 pm
[<Yela) fabseoé,:) e3T3°O3) VAT AoG :3;63; DEoTIHD Qotd o3 eﬁwgb‘l EFT BB
a. Qre 2 duL 8r.30,000
b. £ F&gaw J0H 6.6,000 (503008)
C. G DOIPG BHE00 JOLH 6,500
d. €S 610,000
e. &5°% ¢°.25,000
f. 08 g FSiHn duH 6.10,000
g. 3o 03 duH 65.6,000.



9.

. Mr. X has constructed a multistore building at Delhi consisting of 40 flats. Each flat is let

out for Rs. 1,000 p.m. The municipal authorities have fixed the rental value of this property
as Rs. 4,50,000 p.a. The owner bears the following expenses:

a. Lift maintenance 12,000p.a.

b. Pump maintenance 8,000p.a.

c. Salary of Gardener and Watchman 3,600 p.a.

d. Swimming pool expenses 9,000 p.a.
Compute the Real Rental Value
Mr X, GBS’ a8 ¥ eodiue $IT) DBLoarc. oS’ 40 e S0, 0O F6
0 dH 683.1,000 S@Dé R @&Qa‘d). €2 €303 :mQDZJQS (ZInIS3le SI3V) Z)gbo:‘l)é DVD
K)obébo“:)é ¢.4,50,000. a2355° S0 DENOD BOJCL. |

a. 8)5_'3 NIRe “‘Oobébovbé 8.12,000.

b. Hod 365@99 ;bo&ﬁeébmi’)é &8°.8,000

C. SOIrd L0050 T D © BB VoDBYO°S 6>.3,600

d. f’osibéoﬁ S DB\ &oéébo‘f\’)é 85°.9,000
TRD B dewd (Real Rental Value) & ejézjoéob.:o

. Admissible expenses

29 00N 0E :pci)‘)w

. Expenses especially disallowed

OBYE0IT WDIOB0SD PENL

. Casual income

QEFESHDNE 9TPOOB0

. Deductions under sect 80C

£ 80 C gots ShHopw
Section — B
Answer the following questions. Each question carries 10 Marks
808 %) VN VIFEEHBL FAVIW. B VI 10 Arcy e
(5 x 10 = 50 Marks)

a. Define Agricultural Income and explain test to determine Agricultural Income

.;555531’063 e3T3° O30 :)(55::)0::), é&bb"om eSO JgeSE DO8ED) DHBoTIE
OR

. The following incomes are earned by Swaroop during the current previous year

QRS (1 LODBNT°AS DETD 3 0D TPOITreD $06 RBEROIA.



10.

Profit from business in Iran received in India Rs.5,000.

Q0D &°D ToFGo 08 TrEo WG B30 DEOEDHG 63°.5,000

Income from House property in Iran received in India Rs.50,000.

QOPD &°D (4305 Mol eTPOREAWD eES B30eS” DIEBDDHG 63°.50,000
Profits of business established in Pakistan deposited in a bank there
Rs.1,00,000 This business is controlled in India.

TIPS & F0oDD TeFIG00 Dol ergo ) & GRS BVOG ¢°.1,00,000.
SN :Plg&o;z)l 6 B%0 od dadoges BRI &o.

. Accrued in India but received in England Rs.2,000

6 $330¢5° 290D RofFol &° VEOeDIG ¢.2,000

Profit earned form business in Kanpur Rs.6,000

SRRy &7 TIPEA &08 80D ereso 6°.6,000

Past untaxed foreign income brought into India during the previous year
Rs.10,000.

(c5085° DR0) € MOS DB BEPODHN VRS (8 VoDBG0eS” a6 FFJS
a&aéé. ¢>°.10,000

From the above particulars ascertain the taxable income if Swaroop is (i) resident (ii)

not ordinary resident and (iii) non-resident.

D DdTR ST {osdria (i) 322085 (Daord), (i) Jordes DTed s 603 (iii)

Qe 5°¢D (TPD-BH&otS) WOVDLINED, €95 DAY DAEAD e.ewodrbgv e‘)’ézjo:ﬁoé.n

Ravi working as employee in Andhra Pradesh State Government receives the following

emoluments during the previous year ending 31-03-2021.
6D ol DAT DSBS’ &S DIV, 31-3-2021 & wosdocdhy (e
RoIBNTI8 8o HAPTOR TotOSBOIT) .

a.

Basic pay — Rs.61,960 per month

S0P DBD0 — VL E°.61,960

Dearness allowance — 33%

SO P&y — 33%

Commission — Rs.10,000

SRS — 65°.10,000

House rent allowance — Rs.14,000 per month, rent paid Rs.10,000 per month
Q08 ©d HSHa0 ~ duL 65.14,000, Do g JuH 6r.10,000.

Medical allowance — Rs.25,000 p.a.

33_665 aﬁélgs&p }’\)osﬁe:‘ebc"bé 6>°.25,000



11.

f. Professional tax paid — Rs.2,000 (Rs.1,000 was paid by his employer)
BYodd 9B D0y r.2,000 (65°.1,000 £ 0$22:85° IodTehd)

g. Contribution to Provident fund - 12% of basic pay
HD AGS ot ~ &re DesdosS” 12%

Determine the income from salary for the assessment year 2021-22.

2021-22 K)éo‘l Ji)g”dea &obébo”bé B0 (~Neu 23T3P 0300 f()g*’bozman

OR

B is working in XYZ Ltd and has given the details of his income for the previous year

2020-21. You are required to compute his gross salary from the details given below
B, XYZ ®06& &° 0B ¢ 2020-2021 (18 D0DSY0°IS 09 estrah ST
OGERVTN (. $08 DITVE WD PIw BB T ociaaw.

a.

Basic salary — Rs.20,000 per month
Ao e300 — Do §».20,000

DA —50%
DA —-50%

Commission as a percentage of turnover 0.1%
08 56 p TS0 LRS 0.1%

Turnover during the year Rs.50,00,000

RodBGoeS” ) 96 ¢°.50,00,000

Bonus Rs.40,000

e5°0D ¢°.40,000

Gratuity Rs.25,000

grenge 60°.25,000

His own contribution to the RPF — Rs.20,000

RPF £ & Jodd o 65°.20,000

Employer’s contribution to RPF - 20% of his basic salary
RPF £ a$2:50°0 Koo — S &a80e° 20%
Interest accrued on the RPF @13 % p.a. — Rs.13,000.
RPF 3 205¢y0°3 13% 30y O¢ 65°.13,000

Prem owns a house in Madras. During the previous year 2020-21, 2/3rd portion of the

house was self-occupied and 1/3rd portion was let out for residential purpose at a rent

of Rs.6,000 p.m. Municipal value of the property is Rs.2,40,000 p.a., fair rent is
Rs.2,70,000 p.a. and standard rent is Rs.2,50,000 p.a. He paid municipal taxes @10%

of municipal value during the year. A loan of Rs.20,00,000 was taken by him during



the year 2017 for acquiring the property. Interest on loan paid during the previous year
2020-21 was Rs.1,00,000. Compute Prem’s income from house property for the A.Y.
2021-22.

D ogrRne” w8 (1)) €8A e . 2020-21 (5 DodSIGoeS 8 (froes” 2/3
D00 A FozrdS TPEOSOT?) € 080K AADD 1/3 Hodo 2y JdwH 6°.6,000
O SR TS RH AT, & &Y AL, JIWNS Dewd DoISNoeS
65°.2,40,000, o0E00 ©f “‘Ooéébo‘f()é 65°.2,70,000 08050 @Jroreds 03
R)obébo“:)é 65°.2,50,000. @930 QR0 (ieh &osﬁébdoef :m&bs’oé Dend 2 10% &
B0D30S 0X0) e BPoDTCD. e R e BT 2017 DodBYGoeS” 930
65°.20,00,000 2wy SROOHT) 0. 2020-21 (8 DodS\G0eS 3o aeso D H¢
¢°.1,00,000. 2021-22 Doy .bgdea &obébo‘.i’)é o0 aBoog); (1) ol Ziaes L)Y
TE) 0c8080.

OR

Receipts and payments account of Dr A, a doctor for the year ending 31-3-2021 is given

below. Compute professional income

Receipts Rs. Payments Rs.
To Balance b/d 1,39,800 | By Dispensary rent 2,09,700
To consultancy fees 3,49,500 | By Staff salaries 1,39,800
To Rent received 1,74,750 | By Books and magazines 34,950
To Gifts from patients 69,900 | By Donations 1,74,750
To Examiner’s fee 1,39,800 | By Surgical equipment 62,910
To Operation fee 1,04,850 | By Medicines purchased 1,11,840
To Visiting fee 1,39,800 | By Travelling expenses 76,890
To Lecture fees 2,09,700 | By Telephone expenses 27,960
To Sale of medicines 27,960 | By Balance c/d 5,17,260
13,56,060 13,56,060
Other information:
a) Depreciation on all assets Rs.50,000
b) Gifts from patients includes Rs.42,000 received from relatives

c) Closing stock of medicines Rs.21,000



31-3-2021 & eossdualy DodINTPIE || A g Hrdy BQopw wrTe §ods
QOEDOIO. DB T°(T° BHPASr) T ocsoaw.

DTy 8. 3ospew 8.

To a:‘:)a;o f()e)s 1,39,800 | By es2008 o3 2,09,700
To 200ODL e 3,49,500 | By deyod Soen 1,39,800
To SDNS &3 1,74,750 | By 298570 & ari@eo 34,950
To 8o 0d exsTuoeheD 69,900 | By doewren 1,74,750
To A6 e 1,39,800 | By ¥y 00g0°en 62,910
To 30812 e 1,04,850 | By oo Soffen 1,11,840
To Dedoh e 1,39,800 | By 003 60Nen 76,890
To &D-P50 2w 2,09,700 | By &99°S a08o e 27,960
To &votoo i) go 27,960 | By é@aé 3&)5 5,17,260

13,56,060 13,56,060

QG VAT

a) es&)i eV B E.50,000

b) Bw M0 HDND LZTVBVES” LoD oG BN 642,000 £8

&é&é.

c) S0V DAY .005 &.21,000
List out the General Incomes and Specific incomes.
6 TP S80I VBE BEPOSrO DYE Bakwdw

OR

Murali furnishes the following particulars for the previous year ending 31-3-2021, and
compute the taxable capital gain
31-3-2021 & @oamdia5 éoéébmbé SNGY S0 DT LR eooda?%_gom‘lcb, SHOPVES
PO Qézjomap.

i. He had a residential house inherited from father in Dec. 2004, which was
acquired by father in 1998 and the fair market value of which as on 1-4-2001
is Rs.4,00,000.

34 2004 &° Sod DG D006 TERBLOMT 28 TV (HiTP0 SDYIQ. &°A
0D o 1998 &° Enffen BV, 1-4-2001 & oD DIAVRDPOD B0 ¢
densd 8.4,00,000

ii. In the year 2006-2007, further construction and improvements cost Rs.3.4
lakhs.

2006-2007 &° ) o0 B0 DBy H5od0 6.3.4 VL



13.

iii. On 18-9-2020 the house was sold for Rs. 45 lakhs. Expenditure in connection
with transfer Rs.90,000.
18-9-2020 & & (DTN) Gr.45 VEVDH VAT, TS Doeofow
6°.90,000 00 268 Sdcd.

iv. On 20-12-2020, he purchased a residential house for Rs. 23.40 lakhs.
20-12-2020 & @80 28 AT () 65°.23.40 vgoH §5°) .

2001-02 2004-05 2006-07 2020-21

o] 100 113 122 301

Explain the deduction allowed under section 80G from the Gross Total Income

VES 80 G 8o 2P0 Do TPadRD Q006 0RB0B BAOLDVR DdBotsdE
OR

The following are the particulars of income of Mr. B for the previous year 2020-21.

2020-21 ¢33 {oobébovbé Mr.B S308); estea%> Ddoren S0& Do &) D.

Rs.

a. Income from house property (computed) 61,200
(Y Aok BTroHL (58)0d36)

b. Business income 1,00,000
TYIE ITPODED

c. Dividends (gross) 20,000
CoDTOg (E%J“e)o)

d. Long term capital gain 90,000

ég 5908 SOV PRI

e. He paid Rs.30,000 as life insurance premium on his own life on a
policy of Rs.2,50,000. He also paid Rs.8,000 on a life policy of
Rs.1,00,000 on his wife’s life
W B3 Todh BIB0R BLOLDY) DI FOD 63°.2,50,000 BP0
D oako 65.30,000.  ers5 2Dedo P 6.1,00,000 © £ Do
O P WS 30D dwdo 6.8,000.

f. He gave Rs.25,000 as donation to a charitable institution approved
under section 80G
VES 80 G 808 _THOND 28 88 {Oofgs.) 95D @r‘bbé Doeo
¢°.25,000.




He deposited Rs.25,000 in NSS certificates
NSS Dgrees” ek G2t S dwgo 63°.25,000

He borrowed Rs.1,00,000 and contributed towards pension plan of
LIC

LIC ?ocg.S DGEo 6L Wor BoDES sy 6.1,00,000 2Dy
BRVHT .

Interest accrued on fixed deposit in a bank Rs.12,000

28 ePfoteS’ &) DG AFRYD ToHVD ¢ 6°.12,000
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COMMERCE
Paper- 3: INCOME TAX
(New Regulations 20-21)
k Time:3 Hours Maximum Marks: 75 /

Section-A (5 X 5 M= 25 Marks)

Answer any FIVE of the following. Each question carries FIVE marks

1. Previous Year and Assessment Year
Allowances
Deductions U/S 24
Types of Capital Assets
Deductions U/S 80 C
Agricultural Income

Profit in Lieu of Salary

e e B

Define Business
SECTION-B (5X10M = 50 Marks)
Answer ALL questions. Each question carries TEN marks
9. a) Mention any Ten Exempted Incomes Under Section 10
(OR)
b) Following are the incomes of Sri Raghu Ram for the current previous year.
1) Profit from the business in Bangalore Rs. 20,000
i) Income accrued in India but received in Japan Rs. 16,000
ii1) Profit from business in Canada but received in India Rs. 15,000
v) Income from house property in Karachi received in Mumbai Rs. 25,000
V) Profit from business established in England and deposited there the business
being controlled from India Rs. 40,000
vi) Income from house property from America and deposited there Rs. 18,000
vii)  Past untaxed income brought to India during the previous year Rs. 25,000

viii)  Income from Indian company Dividends Rs. 12,000

1



Compute the total income of Sri Raghu Ram if he is
a) Resident
b) Not Ordinary Resident
c¢) Non-Resident
10. a) From the following particulars find out the taxable salary of Ms.Swetha working at
Coimbatore (population more than 12 Lakhs.)
(1) Salary Rs 48,000 P.M
(i) DA Rs 6,000 P.M
(ii1))  Bonus Rs 33,600
(iv)  Employer contribution to employee recognized provident fund 14% of basic
salary.
(V) Rent free accommodation (unfurnished) fair rental value is Rs. 2,00,000 p.a
expenses on maintenance of garden met by employer Rs. 3,000
(vi)  Interest on provident fund balance @ 13% p.a. Rs 7,800
(vii) A car (1.4 liters in capacity) is provided by employer. All expenses are born by
employer. It is used both for performance of duties and private purpose. Car was
used by employee for only 11 months during the year
(viii)  She paid professional tax of Rs. 200
(ix)  She received Rs. 1000 p.m as fixed medical allowance.
(OR)
b) Calculate the salary income of Sri Kohil form the following details for the previous
year 2022-23
(1) Basic Salary Rs. 25,000
(i1) Dearness allowance 40% of salary
(ii1)) Commission on Sales Rs 50,000
(iv) House Rent allowance Rs. 60,000 (Rent paid 40,000 at Kadapa)
(v) Medical allowance Rs. 8,000
(vi) Employer and Employee contributions to RPF 16% of Salary
(vii) Interest credited in RPF account Rs.9,600 @ 12%

(viii) Children education allowance p.m Rs 3,200 for 2 children



11. a) From the particulars given below compute income from house property which consists

of two independent units having 1/3 and 2/3 area.

Date of Completion 1.11.2016
Municipal Rental Value Rs 1, 20,000
Fair Rental Value Rs, 1, 80,000
Self-occupied 2/3 portion
Let-Out 1/3 portion from 1.4.21 to 31.8.21
@ 10,000 p.m and self occupied from 1.9.21 onwards
Municipal taxes Rs. 12,000
Free insurance premium  Rs. 4,000
Ground Rent Rs. 8,000
Interest on Loan Rs.15,000
(OR)

b) The following is the profit and Loss a/c for the year ending with 31st March prepared by the
owner of a business compute income from business for the current assessment year.

Profit & Loss A/C
Particulars Amount Particulars Amount
Rs Rs
To Proprietor’s salary 10,000 | By Gross profit 50,000
To salaries to staff 12,000 | By profit on the sale of car 15,000
To general expenses 7,000 | By Bad debts recovered 5,000
To interest on capital 2,000 | By Interest on government securities 4,000
To Insurance premium (Fire) 5,000 | By Dividends 4,000
To Advertisements 2,700 | By Interest on post office savings a/c 4,000
To Depreciation 3,000
To Provision for bad debts 1,000
To Income tax 4,000
To Donation to schools 3,000
To Car expenses 3,000
To Net profit 29,300
82,000 82,000

Additional Information:

1. As per the income tax regulations , depreciation is Rs. 2,500 only




il. General expenses included the printing expense incurred for the calendars Rs. 500

iii. Advertisements included the expenses incurred for the distribution of pamphlets
Rs.1,000

12. a) Ms Jyothi purchases 1,000 equity shares in Good Luck limited an unlisted company,
at a cost of Rs 30 per share (brokerage 1%) in January 1996. She gets 100 bonus shares in
August 2000. She again gets 1,100 bonus shares by virtue of her holding on February
2006. Fair market value of the shares of Good Luck Itd on 1 April , 2001 is Rs. 80. On
15" January 2022, she transfers all her shares @ Rs 200 per share (brokerage 2%).

Compute the capital gains taxable in the hands of Ms. Jyothi for the A.Y 2022-23.
Note: CII F.Y 2001-02: 100 2005-06: 117 2021-22: 317
(OR)

b) Mr. Ram, a resident in India earned the following incomes. Compute taxable
Income under the head income form other sources for the current assessment Year.

1. Interest on Securities Rs. 6,000
il. Winning from horse race Rs. 12,500

1. Dividend from a foreign company Rs. 26,000

1v. Interest on Postal Savings bank Account Rs. 2,000
v. Income from agricultural land in Bangladesh Rs. 20,000
Vi. Received a gift of wrist watch form his cousin Rs. 5,000

Vil. Director’s fees Rs. 1,800
13. a) Write deductions Under Section 80 C to 80 U of Income Tax Act 1961.
(OR)
b) The following incomes and losses of Badri were extracted from his records. Calculate
taxable income for the Current Assessment year.

(1) Long term capital gain Rs 3,30,000
(i1) Short term capital gain Rs 50,000
(i11))  Interest on fixed deposit Rs 10,000
(iv)  Winning from lottery (gross Rs 10,000
V) Deposited in NSC VIII issue Rs 15,000

(vi)  Deposit in pension scheme u/c 80 CCC Rs 30,000
(vil)  Income from salary computed Rs 2,00,000
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B.Com Degree Examinations —JULY 2022
FOURTH SEMESTER
PART — I
COMMERCE
PAPER —4 : BUSINESS LAWS
(New Regulations 20-21)

Time : 3 Hours Max. Marks : 75
SECTION — A
Answer any FIVE questions. Each question carries 3 Marks
B 5 PF) VD DAFEPRH FPOBVHL. VB 3 D 3 drdo e
(5 X5 = 25 Marks)
1. Voidable contracts
DYETE SPoerLHD
2. Offer
DA
3. Capacities of parties of contract
SotPHS’D Ffo edden
4. Contingent contracts
3030808 SCogrgIeD
5. Unpaid vendor
B0 5 EEVER)laey
6. Significance of Cyber Law
2086 TS0 CB0E), @m%é
7. Features of Sale of Goods Act
DR DEOH o AL, VEETD
8. Cyber security
206 2eEr;6e
SECTION — B
Answer the following questions. Each question carries 10 Marks
808 %) VN VITTHBL FAKVIW. VB P 10 Arcy e
(5 x 10 = 50 Marks)



.| Define contract. Explain the essentials of Valid Contract

SPoEPEH stri)oéoan. DYABND SPoEPrS> AL BDBISPON DTSN

OR

.| What are the different types of contracts?

DG 6570 SToEPLHRD ID?

10.

What are the essentials of valid offer?

BYEAD VEIBD ABE); 33FFTTRL DD?

OR

.| What is consideration? Explain its characteristics

DDV VIATPA? TP VEETVN DadOoTAWD

1.

What are the special rules regarding contracts with the minor?

D06 & SPoErLHLL ©0e3060DD VB[ JoPdTu D?

OR

Explain the remedies to breach the contract

?oég%) oo DeeSed zbdéoéo D00t

12.

What are the differences between sale and agreement to sell?

@930 S0 H0BATN @A S AAGo 2dYOEPAS Hoesy (o e D ?

OR

Explain Consumer Dispute Redressal Mechanism in India.

EB30ES” (10 DIWPATEL DOIY S CDOTPomT) DdBoLsHN

13.

Define digital signature and explain its significance

G2eS D w56 (Dodgo) & BN, TP FL0WJB DHBOLVEAD

OR

Define cyber law and explain its importance

2086 563330080 36530:3;&» S0B0L T* @angp?sééo DB oA
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/ B.Com Degree Examinations:: JULY/AUGUST,2023. \
FOURTH SEMESTER
PART-II
COMMERCE
Paper- 4: BUSINESS LAWS
(New Regulations 20-21)
k Time:3 Hours Maximum Marks: 75 /

Section-A (5 X 5 M= 25 Marks)
Answer any FIVE of the following. Each question carries FIVE marks

Describe the distinction between voidable contract and void agreement.
Consideration

Conditions Vs Warranties

Unpaid Seller

Cyber Law

Describe Indemnity Contract.

Breach of Contract

® NS kWD =

Consumer Protection Councils
Section-B (5 X 10 M= 50 Marks)

Answer ALL questions. Each question carries TEN marks.

9. a) Define Contract. Explain the essential elements of valid contract?
(OR)
b) Explain the different types of Contracts?
10. a) Define Acceptance. Explain the essential elements of Acceptance?
(OR)

b) How do you distinguish between offer and invitation to treat?

11. a) What are the rules regarding agreement with Minor? Explain.

(OR)



b) State the various ways in which a contract may be discharged?
12. a) Difference between Sale and Agreement to Sell.
(OR)
b) What are the rights and duties of Consumer?
13. a) Explain the Cyber Law and Contract procedures?
(OR)
b) Explain the importance of Digital Signature?



9.

B.Com Degree Examinations —JULY 2022

Time: 3 Hours

NS4 - 555

FOURTH SEMESTER
PART — I
COMMERCE
PAPER 5 : AUDITING
(New Regulations 20-21)

SECTION — A

Max. Marks : 75

Answer any FIVE questions. Each question carries 5 Marks

AR 5 23) VL VDATEEROL Z°O30D. FoT1) 03 5 Qa0

Corporate Frauds

528135 DIeJeen

. Continuous audit

QBoBS 3¢S

. Government audit

QBB e3385

. Audit Working Papers

2335 DI seATPeD

. Internal Check

oSgS 3D

. Investigation

Fesd

. Objectives of Vouching

500hH ABoog); VFTge

(5 X5 = 25 Marks)

. Appointment of Company Auditor

00D es@erd G3og), Dosrdugo

SECTION — B

Answer the following questions. Each question carries 10 Marks

308 0%) VL DAFEVBO FALBED. LB PI) L 10 Aray) e

e300 08030 9otdoh © 206 (fo See AD?

(5 x 10 = 50 Marks)

a. What are the differences between Auditing and Accounting?



10.

11.

12.

13.

OR
b. Explain the role of auditor in checking Corporate Frauds.

SENGE ek SJD B0’ 8G0E TR, PG DDOoTLW.

a. What are the different types of audits based on Time and Ownership?

SPRR Q000D CErRBIOfo TS esd8e5° (o DG I5ten DD?
OR

b. Explain the following

S0 TP DdBoTAD
a. Internal audit
0SS €95
b. Independent audit
(B0 eSCLES
c. Interim audit

ma5s°§)s (TTAN)

a. What are the steps to be taken at the commencement of New Audit?

E¢ 3G 20 FB0DotsirIS BE'T YD 560 D0E3?
OR

b. Define audit note book and explain its contents.

G S5 DL BB SO0 OIS’ WOTLX DDA

a. What are the differences between Auditing and Vouching?

e3G0H 0003 £Doh © 2065 (o Sre AD?
OR

b. Define Vouching and explain its objectives.

0H .‘Odszi)omap 08030 T° o:=:°50m DDB0TAD

a. Define Audit Report and explain the contents of Audit Report.

e3¢5 Oi’isgo & DEDOB SO &L Oﬁeg S5°D 90PN OB
OR

b. What are the rights and duties of Auditor?

es& 6 GR00g); TPER e BB Deoew DD?
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/ B.Com Degree Examinations:: JULY/AUGUST,2023. \
FOURTH SEMESTER
PART-II
COMMERCE
Paper- 5: AUDITING
(New Regulations 20-21)
k Time:3 Hours Maximum Marks: 75 /

Section-A (5 X 5 M= 25 Marks)
Answer any FIVE of the following. Each question carries FIVE marks

Objectives of Auditing
Internal Audit

Audit Programme
Importance of Vouching
Appointment of Auditor
Corporate Frauds

Audit Note Book

e A T e R

Define Voucher. Explain types of Vouchers
Section-B (5 X 10 M= 50 Marks)

Answer the following questions. Each question carries TEN marks.

9. a) Define Auditing. Explain its advantages and disadvantages.
(OR)
b) Distinguish between Accountancy and Auditing
10. a) What are the different types of Audits?
(OR)
b) What is Continuous Audit? Explain the advantages and disadvantages of Continuous
Audit?
11. a) What are the steps to be taken at the commencement of new audit?
(OR)

b) What are the differences between internal check, internal audit and internal control?



12. a) Define Vouching. Explain importance of vouching.
(OR)
b) What are the difference between auditing and investigation?
13. a) Describe the qualifications and disqualifications of a auditor.
(OR)

b) What are the duties and liabilities of an Auditor?
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B.Com Degree Examinations —JULY 2022
FOURTH SEMESTER
PART — I
COMMERCE
PAPER 6 : GOODS AND SERVICE TAX
(New Regulations 20-21)

Time: 3 Hours Max. Marks : 75
SECTION — A
Answer any FIVE of the following questions
$08 TEBS” DB 5 HF) VL DITPOIL FFOEVHD
(5 X5 = 25 Marks)

1. Components of GST

GST adwg); @owen (e3°rew)
2. Advantages of GST

GST ddws); odrasren
3. GST rates in India

263B305° GST Sew
4. Dual GST

¢3Qoed GST
5. Bill of Supply

REOT® Den
6. Time of supply of goods

REDHO DEHT® DAV
7. Matching of Input tax credit

AR~ DRVY A 20°08
8. Importance of submission of Returns

BEIE2) VR TP Badcto a30E), @aﬁ»a)zgé

SECTION — B
Answer the following questions. Each question carries 10 Marks
808 %) VN VIFTEHBL FAIVIW. VB P 10 Arcy e
(5 x 10 = 50 Marks)

9. a. Define GST and explain its importance

GST D o3 0B8N TP FPEAVPJHBRD DHOOLIEWD



10. a.

11. a.

12. a.

13.a.

OR
What are the taxes subsumed under GST?
GST Rooct a0 Soe DR300 DAY e AD?
Explain the principles of GST
GST 2orgrod Dd8otivdd

OR
Describe the comprehensive structure of GST in India.
G530 GST g, DdE JTEP) DdBocsods.
What are the transactions covered under GST?
GST 206¢°8 HBy eradden D?

OR
Write note about Reverse Charge Mechanism.
858y &°8 05°zzo (OOL) FPOKVH
Describe the Availability of credit in special circumstances
0B ;aofgames‘ SAE5 02580 (o) DHOOLLN

OR

Define Input Tax Credit (ITC) and explain its advantages

QRN erzgéb 8&& (ITC)D Z)d&‘f)oéod S0B03L TP PHAITRTCPV DdBotIocs
Explain the Composition of Quarterly Filing of GST Returns
GST 6395&,3 B8, géwf‘os 2Ooh AB0E), SN DdDBoLIoc

OR
Write note on procedure of Filing of GST Returns.

GST 606) y P& S derdop S¢S raDod
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FOURTH SEMESTER
PART-II
COMMERCE
Paper- 6: GOODS AND SERVICES TAX
(New Regulations 20-21)
k Time: 3 Hours Maximum Marks: 75 /

Section-A (5 X 5 M= 25 Marks)
Answer any FIVE of the following. Each question carries FIVE marks.

GST Council

Dual GST

Tax Invoice

Input Tax Credit
GST Returns
Taxation of Services

Kelkar Sha Committee Recommendations

® NS kWD =

Taxes exempted from GST
Section-B (5 X 10 M= 50 Marks)

Answer the following questions. Each question carries TEN marks.

9. a) Explain the overview of GST concept?
(OR)
b) What are the advantages and disadvantages of GST?
10. a) Write about the Principles of GST?
(OR)
b) What are the taxes and duties which come outside the purview of GST?
11. a) What are the various types of Tax invoices issues under GST?
(OR)

b) Explain the difference between composite supply and mixed supply?



12. a) Explain the concept of time of supply of goods and services?
(OR)
b) Write a brief note on cross utilization of ITC between the central GST and state GST?
13. a) Explain the Regular monthly filing returns?
(OR)
b) Explain briefly about GSTR2, GSTR2A and GSTR3.
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B.COM DEGREE EXAMINATIONS:: JULY, 2023
FOURTH SEMESTER
PART-II
TAXATION
PAPER - V: MANAGEMENT ACCOUNTING
(New Regulations 2020-21) )

M

e

Time: 3Hours

Max. Marks: 75
SECTION- A 5X5=25 Marks
Answer any FIVE questions
Objectives of Management Accounting
Advantages of Financial Statements
Trend Analysis
Classification of Budgets

The following figures are extracted from the balance sheet of a company as on 31° December.

2020 Rs. | 2021 Rs.
Stock 25,000 40,000
Debtors 10,000 16,000
Cash 5,000 4,000
Creditors 8,000 15,000
Bills payable 2,000 3,000
Overdraft 5,000 15,000
Bills receivable 5,000 6,000

Calculate current ratio and acid test ratio for the two years and give comment on the liquidity
position of the company.
Common size statements
Financial statement analysis
Solvency Ratios
SECTION- B
Answer ALL questions
(a). Define management accounting? Discuss the advantages of management accounting?
OR
(b). Describe the differences between financial accounting and management accounting?

5X10=50 Marks

10. (a). Prepare a comparative income statement of ABC Company Ltd. and comment upon its working

2020 Rs. 2021 Rs.
Sales 18,20,000 23,40,000
Cost of goods sold 12,75,000 16,70,000
Selling expenses 1,20,000 1,45,000
Office expenses 40,000 56,000
Interest Paid 15,000 10,000
Other expenses 3,800 2,500
Income tax 1,15,860 1,41,450
Miscellaneous income 20,000 15,000

OR
(b). What is comparative statement? Explain its uses to management?

11. (a). Define Ratio? Explain the importance and limitations of ratio analysis?

OR
(b). The balance sheet of ABC Company for the year ending 31 Dec.2020 is as follows.



13.

Liabilities

Sundry Creditors

Bank Loan
Capital
Net Profit

Calculate:

Amount RS. Assets
50000 Bank Balance
200000 Bills receivable
271000 Sundry Debtors
500000 Closing Stock
Furniture
Plant & Machinery
Buildings
1021000

a) Current Ratio

b) Capital Gearing Ratio
c) Proprietary Ratio

d) Current Assets to Fixed Assets Ratio
e) Acid Test Ratio
12. (a). Explain the uses and limitations of Funds Flow Analysis?

Amount Rs.
75000
65000
200000
95000
86000
150000
350000

1021000

OR
(b). The following is the Balance Sheet of Red Hills Ltd. Prepare the funds flow statement
Liabilities 2021 2022 Assets 2021 2022
(in’000 Rs.) | (in’000 Rs.) (in’000 Rs.) (in’000 Rs.)

Share Capital 5,000 5,000 | Buildings - 1,000
Reserve 100 150 | Machinery 5,000 4,250
P& L A/c 4,100 4,900 | Furniture 1,000 800
Debentures 800 800 | Debtors 2,000 1,650
Creditors 350 380 | Stock 2,400 2,700
Bills Payable 140 175 | Cash & Bank 90 5

10,490 11,405 10,490 11,405

Note: During the year except Buildings there is no purchase and sale of any fixed assets.
(a). From the following balance sheets, you are required to prepare cash flow statement for the
year ended December 31, 2019.

Liabilities

Share capital
Reserves

7% Debentures
Creditors

Bills payable

Provision for dividend

Note: Income tax paid during the year Rs. 40,000.

2019 2020 2019 2020

Rs. Rs. Rs. Rs.
1,20,000 1,20,000 Fixed assets (cost) 1,40,000 1,90,000
40,000 1,30,000 Accu. Depreciation (40,000) (50,000)
70,000 80,000 Stock 90,000 75,000
20,000 40,000 Bills receivable 55,000 1,72,000
18,000 26,000 Bank balance 23,000 29,000

--—— 20,000

2,68.000 4,16,000 2,68.000 4,16,000

OR

(b). Discuss the differences between cash flow statement and funds flow statement?




